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(5) IR TN
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(3) aInfhawifErad

@) REATAFEAY o

R o e g
T TERA .

(AI).%R'E\* TR FEA H TEEA R

AWMW@%I

B. waféra stitemy & fufga fash S e

Frg forem o1 wRtifra for S 2 |
C. T¥iiv Sife 3R 4o % arem @ died g,
e 2 | g

-ztiz) Fa@ B 3 C b §

(2) A, B3 Cafi e adig |

(3) *HaA A3IMB

(4) FIAAIRC

(5) Irgafa 5w ,

fafafiga § & 39 AR $) T89H B A

IoT feargal & areE F@H & I

Iugm i AT R TR

(1) Jeadam  (2) ZERE AW

(3) UfRTHYH g (4) tuﬁwném

‘BRI zam gard @au w A

% 2q fodfua e Déaw g wn

QU BT AR TR 7

(1) VL-SRSAM (2) VSHORADS

(3) Akash-NG (4) QRSAM

(5) IgaRE g

i the followin statement is
?ngg?egf for Active i‘lectrom‘;:ally
Seanned Array Radar (AESA)

(1) It is solid-state active phased
array fire control radar.

(2) It can be adapted for various
types of fighter class of aircraft.

(3) It is not capable of tracking
multiple targets. - ‘

(4) The radar features include
wide band RF front end.

(5) Question not attempted

The fourth generation biofuels are
obtained frogn enetically modified :
1) Ligno-cellulose yielding crops
2) Algae .

3) Archaebacteria

4) Starch yielding crops

5) Question not attempted

Regarding Artificial Intelligence (Al),
identify the correct statements using
the codes given below :

A. Machine learning is a subset of Al

B. Supervised learning involves
training a computer system
without labelled input data.

C. Machines learn through trial
and error, receiving rewards
during reinforcement learning.

Codes:

(1) OnlyBand C

(2) A, Band C all statements are

correct.

(3) OnlyAand B

(4) Only Aand C

(6) Question not attempted

Among the followin la
identify the one which igs, usec}l’efl":f
wireless connection in IoT devices :
(1) Network Layer

(2) Transport Layer

(3) Application Layer

(4) Perception Layer

(5) Question not attempted

What is the name of the man-
portable air defence system
developed by ‘DRDO’ to neutralize
aerial threats ?

() VL-SRSAM (2) VSHORADS
(3) Akash-NG (4 QRSAM

(5) Question not attempted
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11.
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(1) IR (2)

(3) WIEHRE (4) W
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“Rafre Qrrares — a1 - QMY &
oI % T ey 1 T4 IR |
(1) TS — wefar - qeih

@) wew-d-famy

3) g — i — el

(@) wow - ks wEoiafE -

(5) FaRA A

¥ yevw fgmm @ % argan IND-

AQI 101 — 200 €7 3T =g 7vrarn ot &

(1) w=H ) "fean

(3) 3= (4) Ear

(6) FmRasE

fafafga & & e S BT 94 BT :

1) @ i % N i gEn
T & AT Yo B € |

(2) o AR T o i dvem % wfoea € |

3) @ M @ o A TR ¥

(4)

FEaT & |

TEFFAEAE | o \
o wr &SP
3 | T T — ot 3 I o & g
2R faehfia WA %1 UEe AH-dgend
w97 gafta 2
(1) ®=@d
(3) HIEE

(5) 3T I

FIRERER, S FA H T THR 8,
frAfrfiga # @ fradh R AR R 7
(1) wEEEee@ (2)

(4) WA

(2) wEAd
4) YA

6.

10.

11,

12,

@ sprim boasd 1953

Which of the following is a micro-

mineral found in human body
fluids / tissues ?
Magnesium

1) Iodine £2§
3) Phosphorus (4) Sulphur
5) Question not attempted

Select the incorrect set of “the

typical Vector — Disease caused —

’Iyype of Pathogen”.

1) Anopheles — Malaria — Parasite

2) Aedes — Dengue — Virus

3) Aedes - Chikungunya -
Bacteria .

(4) Culex — Lymphatic Filariasis
— Parasite

(5) Question not attempted

According to Central Pollution Control
Board, the Air Quality category for
IND-AQI range of 101 — 200 is

(1) Moderate (2) Poor

(8) Good (4) Satisfactory
(5) Question not attempted

Select the incorrect statement from
the following :
(1) During La Nina trade winds
are stronger than usual.
(2) El Nino & La Nina are the
climate patterns.
) El Nino and La Nina are a

3
4 ind of storm.
bw).ahj uring El Nino, there are

fewer phytoplanktons off the

coast.
(5) Question not attempted

India’s first Nano-cellulose plant
developed by ICAR - CIRCOT
Mumbai is related to R

ice

1) Bamboo ?2;

3) Cotton 4) Jute

5) Question not attempted
Kwashiorkor, a form of
malnutrition, is caused bly deficiency
of which of the following

ié% Carbohydrates 52; Chromium

5

Selenium 4) Protein
Question not attempted
Which of the following artificial
sweeteners have the highest sweetness
value in comparison to sucrose ?
1) Sucrolose éz; Saccharin
3) Aspartame (4) Alitame
5) Question not attempted




13.

14,

15.

16.

HIH-1 (IHTAT F73 1 TH) H) HTemw-
II iyt wae) @ giftm # R R
TR Y wEET & W I 1w
Hiem-I wiem-11
Tt () oM
. WIONISH () Haha
(iii) IR
(iv) m
NN
A B C D
i) ) @) Q)
v) @) () @
) @ G) ()
@) @) Qi) @v)

£

Cows

L T

(1
(2)
3)
4)
(%) 0O

HIE TY g R M 17 AR ot § d
1 91 Faa fowm @ (SDG) iy &9 &
“TA Sieq” (Life on Land)ﬂiﬁ;ﬁa%,
e Seva werefia witffoes @t ) e,
JARITY 37K e 93N ) TFET AR 7
(1) SDG15 (2) SDG 16

(3) SDG 13 (49 SDG 14

(5) 3T S &
IR GRS LIRS NEA IR TR LI
(1) s wrEEerier

(2) e = S
(3) Sfted 1 g
(4) fta 1 |t
(5) IrgaRa ¥
ToH g e Se-fafdva af@em
(ﬁm-z)%ézﬁﬁmmm&gyam |
(1) 3@ vfEem & swerad Wi
e e farapfira fF T & |

3@ ufEE § 9o @ S
afafaa P mn g

@ I Fiy gedm wiE (3
T8 €t ©) gr wEEd1 g 1 TS |
749 18 fael wd 8 FSfia FATTY
afiiferd & |

FATANE 9

@)
3)
(4)
®)

oaws>

14.

15.
. (1) .Hydrometer of Earth

| 16.

18. Match Column-I (Location_of the

Excellence) with Column.
ICIen(tt?}feOf horticultural crop) and
select the correct answer using the

i below :
codes Bven 2SO Column-II

Bassi (i) Mango
Sagra Bhojka (i) Custard-apple

Devrawas (iii) Pomegranate
Khemri (iv) Guava
(v) Date-palm
Codes :
A B C D
(1) @) (v) Qv @

2 @(v) @) () @
(3) Gi) @@ @) (@)
4 @ @) @) @)
(5) Question not attempted

Which Sustainable Development
Goal (SDG) under 17 global goals
given by  United  Nations
specifically focuses on “Life on
Land”, aiming to protect, restore
and promote sustainable use of
terrestrial ecosystems ?

(1) SDG 15 (2) SDG 16
(3) SDG13 (4) SDG 14
(5) Question not attempted

Red List of IUCN is known as

(2) Barometer of Life
(8) Mirror of Life

(4) Life Thermometer
(8) Question not attempted
Select the incorrect

regarding the R
and Biodiversity

X statement
aJasthan Forestry
Project (Phase-2).
(1) Abheda and Machia Biological
Parks have been developed
under the project
Water Conservation has also
beer_l ncorporated in the project.
%tt is s;s_;sistiad by Japanese
nternationa Coo i
.i&gency JICA). BesRiion
t covers 18 distri
8 wild-life sanctuarieg.:ts o

Question not attempted

)
3)

(4)
(6)
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17.

18.

19.

Which of the following village of
Rajasthan is transforming itself to
a zero-waste model with the help of
Green Technology intervention ?
(1) Naurangabad (2) Aandhi

(3) Menar (4) Devmali

(5) Question not attempted

“Ganga”, India’s first cloned cow
born in March 2023 belongs to
which breed ?

(1) Tharparkar (2) Nagauri

(3) Sahiwal (4) Gir

(5) Question not attempted

In the question given below,

statement and two assumptions (I)

and (II) are given. Choose the

correct option from the following :

Statement : In order to replenish
‘the nutrients in the soil, it is
important to grow different
types of crops 1in every
alternate season.

Assumptions :

(@) A crop can never be grown for
the second time in the same

field.

(II) If a different crop is grown 1n
the successive season, no
additional nutrients such as
fertilizers are required to be
added to the soil at all.

(1) Both assumptions (I) and (II)
are implicit.

(2) Neither assumption (I) nor
assumption (II) is implicit.

(83) Only assumption () 1s
implicit.

(4) Only assumption (II) is implicit.

(5) Question not attempted
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20.

21.

In the question given below, three
statements are followed by two
conclusions numbered (I) and (II),
You have to take the given
statements to be true. Read the
conclusions and given the answer.
Statements :

Some symbols are figures.

All symbols are graphics.

No graphic is a picture.
Conclusions :
(I) Some graphics are figures.
(IT) Some symbols are pictures.
(1) Only Conclusion (I) follows.
(2) Only Conclusion (II) follows.

(8) Neither Conclusion (I) nor
Conclusion (II) follows.

(4) Both Conclusion (I) and (II)
follow. :

(5) Question not attempted

A statement is followed by two

arguments (I) and (II). Choose which
of the argument(s) is/are strong.

Statement : Should every house

use solar energy in order to
reduce the need of electricity
in Rajasthan ?

Arguments :

(I  Yes, it will conserve our natural

resources and it will promote
environmental compatibility.

No, solar panels are costly and

all the house owners cannot

afford it without subsidy.

(1) Both of the arguments are strong.

(2) Neither argument I nor
argument (II) is strong.

(3) Only argument (1) ig strong.

(4) Only argument (I) js strong.

(6) Question not attempted
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22.

23.

24.

25.

W § ugfa ¥ PROJECT =
‘CEOPRT d¥1 ‘PLANE’ & ‘ELNP’ #
s R, @ @ we wefa #
‘ORGANISED’ ! for@r s
(1) ADEGOIRS (2) ADEGIORS
(3) ADEGIOSR (4) ADEGIROS
(5) Wf{am f’t )
Y Ry e v § v o F e A
foranfafirat (1) e () dmé & | Fm &
Yol fape wr gfag: o
YT : oo e a1 g
aﬁgamﬁsam%
A% W e A
Wﬁaﬂ%lm
qq
mwg:rﬁg:rmﬁ
) SOl S R |
a1 = R B A
@M &Y Aded @
SRR FHH H &
wifge, R 3@ W)
% oi% @ g A
HagH &t foa |
(1) A QA (D) STETFAE |
2 aﬁ(I)W(II)WW%‘?I
(3) et (T) STTE R |
4) %aaal)aawm%
(5) IF@IHA
foreft g W wHEA gt Tears farg R
# | 9 fargail ®t ¥y Ao T B |
@t 9 £, T8 T2 e @ e
ga % =@ § | W@ ot v gEe
el 1w R :
(1) 20
(3) 8
(6) IFFAR@TEA
forrt oft o ST UG R ;|
2, 12, 36, 80, 150, 2
(1) 258 (2) 270
(3) 210 (4) 252 |

(5) FIgafd gH

frnfafr: (D)

(2) 124
(4)1-16

22.

23.

24.

25.

In a coding system, ‘PROJECT’ is
written as ‘CEOPRT’ and ‘PLANE’
is written as ‘ELNP’. Then, in the
same coding system the
‘ORGANISED’ will be written as :
(1) ADEGOIRS (2) ADEGIORS
(3) ADEGIOSR (4) ADEGIROS
(5) Question not attempted

In the quest1on given below, a

statement is followed by two courses of

action numbered (I) and (II). Choose
the correct option from the following :

Statement : There has been less
voting in this Lok Sabha
election as compared to
previous Lok Sabha election.

Course of action :

(I) The election commission
should announce re-election
for Lok Sabha.

(II) Election commission should
cancel the voting rights of the
people who did not vote in this
Lok Sabha election.

(1) Neither (I) nor (II) follows.

(2) Both (I) and (II) follow.

(3) Only (I) follows.

(4) Only (1) follows.

(5) Question not attempted

Eight equidistant points lie on a
circle. Using these points as
vertices, right angled triangles are

~drawn such that one side of each

triangle is diameter of the circle.
The number of such possible right
angled triangles is :

(1) 20 2 24

3 8 4) 16

(5) Question not attempted

Next term in the ° following
sequence 1is : ‘

2, 12, 36, 80, 150, 2

(1) 258 @) 270

(3) 210 (4) 252

(5) Question not attempted
O
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(1)
(2)
3)
4)
(5)

26.

2.

28.

29.

consonants of the

itals) are
h alphabet (capitals)
(I;]g:sgersed inpa mirror. What is the

number of images which do not

look like their or1gir;al shapes ?

ImaFes of
1

16
(1) 15
(3) 13 (4) 14
(6) Question not attempted

A B, C D, E and F are six
members of a family. B is married
to C. F is the mother of E and D is
the daughter of F. A’s daughter is
E and C’s son is A. There are two
married couples in the family.
Which of the following is correct ?
(1) C is grandmother of D.

(2) E is granddaughter of C.

(3) B is grandfather of E.

(4) C is mother of A.

(5) Question not attempted

Mr. X starts walking towards south
from point A. After walking
20 m., he reaches at point B. Now he
turns left and walks 20 m and
reaches at point C. Now he turns
45° anticlockwise, walks a distance
20\/§ m and reaches at the point D.
What is the  shortest distance
between point A and point D ?

1) 205m (2 40\3m

(3 200/3m  (4) 40m

(5) Question not attempted

A Venn diagram is drawn followed
by the four choices. Select the

correct choice which represents the
given diagram.

(1)

(2)
(3)
(4)
(5)

Income Tax, Sales
Service Tax

Library, Books, Furniture
Teacher, Mother, Doctor
Universe, Planets, Stars
Question not attempted

Tax,
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30.

31.

32.

33.

34.

z 8,000 # ufr wt vw Rfvea ufawa
s T & 3 9Nt 1 YR $1 ¥ 3,600
2 | 3R e s g 3 it v 8-a
wwafe s e a2, @ 2 99 &
W T Sl S A

(1) ¥2,248 (2) 2,648

(3) 210,248 (4 10,648
(5) IFHRa ¥

T finge 6t e 5, 12 3 13 TR € |
& N s T R, R #eed
A % Soet & wU | Tt ST
10 3TE R, 39 ITAq ST IRATI R :

1) 18E (2 40%R

(4) 267

e R S e P RA A € 2

@2 18

1) 16
(4) 14

(3) 12

(5) A T
o 7ot 3 wr 1000 freft wfet bt
%,ﬁlﬁﬁgjﬂ?ﬂﬁ@ﬁ&l% &
7o qu 3tk Ot % 3:2 A S 250
fircht S o A et @ | Ta S
g foveron & 250 freft et 1 3T

1 T 3 ol et R | Sy g

AR g aEI g 8 ?

(1) 750 freft et (2) 720 Treft Fiex
(3) 1000 firett =fiex(4) 912 fireft wfiet
(5) i S

et % qed # 21% H FH € A T
safdr ¢ 1,000 # 10.5 fremm e
AT Ghq ghdi & | A AR & 9 SEd
%1 gfa et qoa w1 & 7

(1) %40 @2 T1b

(3) T20 (4) T30

(5) FigdRE I ¢

30. The simple interest on a sum of

31.

32.

7 8,000 at a certain rate percent per
annum for 3 years is T 3,600. If the
interest is compounded 8-monthly on
the samé sum at the same interest
rate, then total compound interest
after 2 years will be

(1) T2,248 (2) 2,648

(3) 10,248 (4) 10,648

(5) Question not attempted

The sides of a triangle are 5, 12
and 13 units. A rectangle is
constructed, which is equal in area
to the triangle. It has a width of 10
units, then the perimeter of this
rectangle-is : :

(1) 13units (2) 40 units

(3) 30:units (4) 26 units

(5) Question not attempted

How many triangles are there in

the following figure ?
1) 16 2 18
(3) 12+ 4 14

(5) Question not attempted

33. A houseéwife has 1000 ml of mixture

34.

that contains milk and water in the
ratio of 3:1. She adds 250 ml of
mixture of milk and water in the
ratio of 3:2 in it. Then she uses 250
ml of the combined mixture to make
curd. How much of pure milk is left
in the mixture réemained ?

(1) 750 ml (2 720 ml

(3) 1000ml (4 912ml

5) Qup‘gtion not attempted

A rediiction of 21% in the price of
rice enables a person to buy 10.5

kg more for ¥ 1,000. What is the
reduced price of rice per kg ?
(1) %40 @ T15
(3) 220 (4) T30
(5) Question not attempted
@)
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35.

36.

37.

38.

39.

QS 1 U T Y W B e e
T AN TH NI T B B arfrewar 2
S (2)
® 3
% o & farg 3k

3 T @ F wAR IR fym, MW g
e gy e g 2

() FER311  (2) ER315
(3) SEW300 (1) Sg-301
(5) IIIRA wH=

e o - Rt @ weel % R
mﬁ%m%ﬁwﬁuﬁiﬁm%:

ot gl

(4)

be [y

Hah!

P | FAFA 1 50% F 3ifees
%ﬁﬁ@?ﬁaﬁﬁmwwﬁml
(1) <Tae, GahT 9971 S
(2) <9, 9a<h] 9YT A1dA
(3) T, YT W
(@) T o
fgoﬁmﬁ%mﬁmmm;ﬁlgi | 51g 3§
e el & 40, 20, 50 % &9 ¥ f&1g T Jeqor

aread & FA: 60, 70, 80 & | GE Hea &
(1) 50 (2) 49.5

(3) 48 (4) 49.33
(5) FAlE 9H

aofsTert % 2@ - e s o E |
W feu My e @ Ul sl 9@ s
mﬂﬁg Iﬁiﬂwﬁm’_!ﬁqﬁw
(1) 99748 (2) 99730

(3) 69760 (4) 302

(5) HgaRE g

l 38.

10

36.

36.

317.

39.

ility of getting the sum
v I;)I;(i)rl;lzbﬁgr};ber, when two dice

are thrown together, 18 :

7

(1) 12 (2) 12
1 4) =
® 3 @ 3

(5) Question not attempted

which app is launched by
?:f;&l:ly Municipal  Corporation,
Heritage for citizens to report 1c1v1c
issues and govg:'nnlleng to analyze,

k, manage & solve ¥

gac Jaipur 311 (2) Jaipur 315
38) Jaipur 300 (4) Jaipur 301
§5 Question not attempted
The pie-chart provided below gives
the d%stribution of land areas used
for various food ¢rops :

Wheat
Rice
Barley e, 72° 890
; 0 uJ
Sorghum 2 - 90°
VY 45° Other Crops
Bajra

followini which uses more than
e
Bajra, Maize and Rice
3
§4§ i
5) Question not attempted
that observations taken as 40, 20,

Choose tﬁqg 1f:(:)rrect option from the
50% of the total area.
glg Rice, Maize and Barley
2 y
Wheat, Barley and Sorghum
Rice, Wheat and Sorghum
The mean of 100 observations was
calculated as 49. It was later discovered
50 were actually 60, 70, 80 respectively.
€ correct mean is

1) 50 52; 49.5
3) 48 4) 49.33
5) Question not attempted

Ten different letters of alphabets are
ven. Words with five letters are
ormed from these given letters.

Then, the number of words which

have atleast one repeated letter is :

1) 99748 2) 99784
(8) 69760 4) 30240
5) Question not attempted

00




40.

41.

42,

43.

00

&\ | ; st 1985
“Telesy @ GF"”‘*(’)}) k

ywiflm  wfeqwt o} 2024 #
fraffss & & fha wwm &
HTERERre Rt alt wfeaut m

TSR a7eaaE v g e R 7

(1) TR AT &t MR, AFG
(2) NTEIHTITH, TN

Q) 3Eaa et AT fema

(@) AR ITAWR TG AR
(5) TG TH L»&
e TGS A — 2024’ FrefiRea
Iy Rmm R 2 oy

(1) 319, 202912 31%H, 2031
(3) 319, 2028 (4) 31, 2030
(6) g 0
T faT A S99 — 2024 %
IR R R R BRI L
(1) & afEn % wfw 3127 w3
HaeH fear |

¥ ffe waemen & R
Faitts "o diaer faum-a
&7 & 9 g | i
39— # e wagH (o #)
e @ ga | t
7% @ 3 faem-gn &t & Afgenai
%1 qagH Tfewra Jeut & it @ |
(5) gy

1% urdieE-aar firen zrem frd % fere
aé %Y1 9T | -
(1) 7% 1829 = fareidiet & Sengen ® |
() 9% ZW % dqu qud wg1 g ford
CwR
78 qeayen A feua R |

JamEr 2024 # @ WRE &1 54af
Zrgm foord saftgfa framn R
et 9o |

@

3

4

3
(4)

(5)

11

40.

41.

42.

480

Which of the following Institution

has been engaged by the

Competition Commission of India

in 2024, to conduct a market study

on Artificial Intelligence and

Competition ?

(1) Institute of
Management, Anand

(2) IIM, Indore

(3) Indian School of Business

(4) Management  Development

(5)

Institute Society
The ‘Rajasthan MSME Policy —

Rural

Question not attempted

2024’ will remain in force until
which of the following date ?

1) 31 March, 2029

2) 31 March, 2031

3) 31 March, 2028

4) 31 March, 2030

5) Question not attempted
Which one of the following
statement is NOT correct regarding
the Rajasthan Legislative
Assembly by-election — 2024 ?

(1) 3127 voters voted through

home votm%.)

(2 Maximum ballot papers for
service employed voters were
issued in Khinvsar assembly
constituency.
Minimum turnout (in percent)
in by-election took place in

Dausa.
Out of 7

3

. in 3 assembly
constituencies, the voting
percentage of women was
more than that of men.

(5) Question not attempted

Choose the correct statement with

regards to Guru Ghasidas — Tamor

Pingla Tiger Reserve.

(1) It is spread over 1829 sq. kms.

(2) It is the third largest tiger
reserve in the country.

(8) Itis situated in Madhya Pradesh.

(4) It is notified as 54t Tiger

Reserve of India in November

2024.

Question not attempted

4

(6)




44. <o Ffar ¥ 39 dws w1 T A

?ﬂﬁ 2024 ¥ wifaes 1 Awer g S
7
(1) wiwEs  (2) gmwm
@) FeRfem 1) Wt
(6) Igafa wem
45. R iR 3q o weER
2024 % W ¥ Slem- aut IT ) gafera
Hifvr ;
-1 Hierw-I1
(T8 Rewirom) (e word o )
(a) =1 femwr @) e 3l
(b) Wit WogeaTE (ii) - wfta
() Bewmduseas (i)
@ () (c)
1) G @) G
@ G G @
(3 G) G) G Y
4) G @ @
(5)° Fgafa s
46. TA @ 4 WRa THR I FB Wi w5
AT et H gt F wmive w5 w5
FHE R & | a9, et feaht sramal
! T WINT 7 o qTIe & 7
(1) 10 (2) 1r11
(3) 6 “4) .8
(5) srgafe e ot |
47. zra;rﬁwgaﬁrm%aﬁw%nmgﬁ
mE 7
(1) &9Een . (2) 7@
(8) Wy (4) 3IEF
(5) wrgafE g }
48. ®@E0 2025 § gqdt Seaa wfatas s
TrE geter o1 A9 Rl fehar s 7
(1) wE 2) ELIER)
(3) fagardve (1)
(5) g wH
O

|
|

12

44, Name the writer from South Koreg
who has won the Nobel Prize for
Literature in 2024 ?

(1) Annie Ernauxe

(2) Han Kang

(3) Nihon Hidankyo

(4) David Baker

(6) Question not attempted

Match the Column I and 7
regarding National awards for the

45.

empowerment of persons with
disabilities 2024 :
Column-I Column-II

Sarvshreshth (Field of out-

ivyangjan) standing work
(a) An)_;nyngijesh (i) Artand )
Culture
(b) Prateek (ii) Music
Khandelwal
(¢) Priyanka (1ii)) Accessibility
~_Deepak Dabade
Tl »
a c
D@ © 6
3O W @
i il 1i1
(iii) (iig @)

4
§5; Question not attempted

Recently the Government of India
has approved inclusion of some of
-the languages in the list of
classical languages. Now, how
many languages in total are having
the status of classical languages ?
1) 10 @ 11

3) 6 4 8

(5) Question not attempted

Recently Yamandu Orsi has been
elected as the President of which
country ?

(1) Venezuela (2) Guyana

(3) Paraguay 4) Uruguay
(5) Question not attempted

The Submarine Cable Resilience
Summit in February, 2025 will be
held at :

(1) France (2) Armenia

(3) Switzerland (4) Nigeria

(5) Question not attempted

46.

47.

48.

00



49.

50.

51.

52.

53.

T & H fpg GH 3 U T WiEEe

w9 “gfaur 2.0” w9 e @ ¢

1) F=i AT =R

(2) YN HATTH

(3) WRAN gATE AW

(4) NRG &1 I=dH T

© i

T @ N T, qQrE H IgEtied H wi

e ) ged 7 3R fava 6 qe@ S

IESE uyTen ¥ grafa Fafafea

Y | fomr Hifve

[ T9% IERA TEN] A RN
JEE ST FAR Agwi gru fowan |

1L 35%(;3:@3%%« TR

1. 39 1 T T

. Wikl Fagama fer g |

9 23 T fyewredl d @ gt W HT A

(1) FaAl@IIaHE |

) Feall @ IIadE |

(3) FaAITEIITEE |

@) LIIEIIEEE |

(5) I TR

frfafga & & fra wdig 3 off arcgt

fiqn % @, R@aw, 2024 # dw A

mﬁﬁﬁ@im-wﬁﬂmﬁ%-

FeaErn Hl 7 ol

1) swEds () famin
(3) TEFHE@ICE (4) IAAL |
(5) Fgefed S o |
s o i haifeard & 3 o
Yaq 2w s (fuadem) &1 ugen
e FE Jafod g3 7 |
(1) Z:? (2) e |
3) @ ™
(5) FFANd g P~ {
l
I
|

8 fegraw, 2024 %1 WRA-AE S | 6

e HEl smafad fearmar 7 o
(1) =% (2) wmg
(3) FAYL (4) 8 feeeft
(5) R 5
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49.

50.

51.

52.
3.

Which organization has recently

launched an upgraded Mobile App

“Suvidha 2.0” ?

(1) Central
Investigation

(2) Ministry of Aayush

(3) Election Commission of India

(4) Supreme Court of India

(5) Question not attempted

Consider the following statements
about recent(l{y inaugurated Asia’s
largest an world’s  highest
imzlal_FlnF Cherenkov Observatory,
at Hanle, Ladakh : .
It was inaugurated by Ajit
Kumar Mohanty, Chairman,
Atomic Energy Commission.
II. It is located at an altitude of

Bureau of

5100 metres.
III. The telescope is built b
Bhabha  Atomic  Researc

Centre with the support of
Electronic Corporation of India
and other industry partners.
Choose the correct answer from the
Oftions ven below :
Only I and III are correct.
2) Only II and III are correct.
3) Only I and II are correct.
4) I, IT and III are correct.
5 Question not attempted

Who among the following from
India, co-chaired with Mr. Atsushi
Mimura, at the 2rd India — Japan
Finance Dialogue held at Tokyo in
September, 2024 ?

1) Ajay Seth

2) Vikram Misri

3) Tuhinkanta Pandey

4) Dammu Ravi

(5) Question not attempted

The I Edition of Joint Table Top
Exercise (CINBAX) between the
Indian Army and the Cambodian
Army was held at :

§1§ odhpur (2) Bhubaneswar

3) Mumbali (4) Pune
5) Question not attempted

Where was the India — Norwa
business round table held on 8t
December, 2024 ?

1) Chennai §2§ Mumbai
3) Jaipur 4) New Delhi
5) Question not attempted

O




54. 383 WS T 2026 F v e wuEl

55.

56.

57.

58.

W fEr i aon g fyeeq gfg
HYF (A) : TG ATETH IAUEE BN |
FYA(B) : AWHT MW A 28 @E
whfrand w4 weely wutd aftifg
Bt | :

(D S Hw B)wdr g ||

(2) W(A)H(B)aﬁuﬁ?ﬁél

(3) (AT (B) 3 o T E |

@) FETHUT (A) TR |

5) sgaRa =

TR 2024 F g0 F IR 54w
T e SfeEin § oem 3 fea
(1) 16wviwE 7%

@ l=viwiewa o,

(3) l16w@uiwg 11 &g

(4) 11@viwE 7%

(5) JgaRa T

fava e w8 wRrfra 2024 %
(1) ==
(3) oH

(5) Irgaia =
Te e 3y T 2025 H ASEE
et g a s e ?

1) afeg (2) wENRE

(3) U™ (4) faEn

(5) orgafa gH
2024 IE.UA.TA.UE. (IEE yfen
@o gu) favg #u femeEsh § yra 3
fopa ggs fa & 7

4) oS

1) 4 (2) b5
3) 2 4) 3
(5) orgafa sy
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54.

55.

56.

57.

58.

(@

i he following statementg
Seor:alsrl((liierf tto 38th Natglonal Games
20%5 and choose the correct option :

Statement (A) : It will be hosted
by Uttarakhand.

Statement (B) : The National Games
will feature 28 sporting plines
and 4 demonstration events.

(1) Only Statement (B) is correct.

(2) Both Statements (A) and (B)
are incorrect.
3

Both Statements (A) and (B)
are correct.

4)

(5)

Only Statement (A) is correct.
Question not attempted
How many gold and bronze medals
has Rajasthan won in 5th National
Para Shooting Championship held
at Pune in November 2024 ?
(1) 16 gold and 7 bronze
(2) 11 gold and 16 bronze
(3) 16 gold and 11 bronze

11 gold and 7 bronze
(5) Question not attempted

Divith Reddy Adulla’ winner of
World Cadet Under-8 Championship
2024 is related to which game ?

(1) Table Tennis(2) Gymnastics
(8) Swimming (4) Chess
(5) Question not attempted

Khelo India Youth Games 2025

will be hosted by which of the
following state ?

(1) Tamil Nadu

(2) Madhya Pradesh

(3) Rajasthan

(4) Bihar

(5) Question not attempted

How many medals did India win at
the 2024 ISSF (International

Shootin%l Sport Federation) World
Cup in shooting ?

(1) 4 2 5
3) 2 (4) 3
(6) Question not attempted
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59.

60.

61.

62.

(5 IgERaEE T

A, T IS ) AUSK 2Rt F T g |

TE-Jadf-V-B’ F AFER, HfHA &
TTEE TS dad 3 = A @ fFR o
e ¢

(1) W (2), B

@) (4). FTH

¢5) FgaRawd

Py 3 & AT % Sea 3 B
it o1/ ?

A, ARH. TE

B. dfi.3m. #don

C. ¥ Budy 10

N

%

(1) ARB (2 B3RC
@) ¥FA (@ F@C

(5) ARG T i

frefafga & @ foom Ueya &1 T89H
g 8.79. 305t A T g & FY
afyeft ?
1)
(3) WIUSRA

Ly
4 AT

"
ararTe % Ta el % gy § fafated
oAt w e i we fifea § @ @ |
faareq &1 994 HIT :

B. Td 81 H I F T WA T
oA TOTEE) T ATE 83T |
AsmBERiEa g |

A BRI swa & |
FIAAGAR |

FIABEAR |

S T |
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(1)
(2)
3)
(4)
(5)

P,

69.

60.

61.

62.

According to “Rao-dJetsi-Ro-
Chhanda”, who among the following
was defeated by Rao Jaitsi, the
ruler of Bikaner ?

(1) Shershah (2) Akbar

(3) Humayun (4) Kamran

(5) Question not attempted

Which of the following was/were
associated in the excavation of

Ojiyana ?

A. R.C. Agrawal

B. B.R.Meena

C. Alok Tripathi

Codes: .

(1) AandB (20 BandC
(3) Only A (4 OnlyC

(5) Question not attempted

Which' of the following
archaeological sites was identified
by archaeologist T.H. Handley as a
Buddhist town ?

(1) Bairath

(2) Naliasar

(3) Bhandarej

(4) Budha Pushkar

(5) Question not attempted

Consider the following statements
about Rao Chunda of Marwar and
choose the correct option from below :

A. Rao Chunda obtained
Mandore in dowry.

B. Rao Ranmal ascended the
throne immediately after Rao
Chunda’s death.

A and B both are true.
A and B both are false.
Only A is true.

Only B is true.
Question not attempted

(1)
()
3)
(4)

(5)
o




63.

64.

65.

A T Faserfof avr % ey &
ﬁnﬁ%ﬁwwmm%?

(1) wﬁmmwmﬂmﬁtﬁ
T AT | e

(2) wﬁrmﬁﬁw‘rﬁm%m
TR e &= |

() TWH W T 1888 F AW
... e v @ gg ot |

(4) TEH I T F. TG 3R
W%mm%ﬁmm

(5) ITguRa w=A

Fr=fefgs weel w fRar iR

A fofe feam omaem Tt
Sl 3 3g faow fig o
wiefieft @ fire qut w9

B. W%WEW%W
o gaEmR-wE A

A1 few e e #1 wE F A I/ R
I3

(1) AaﬁtBaﬁg@g,m

(2) q?ﬁA@ﬁ(q‘&ﬁBHﬁ%‘h

(38) FAAATEE | ;

(4) ¥EABEAR|

(5) wwha v
1945mm,q,mmﬁqﬁa
forg 2eft farad A gafRE 2 7

(1) 3IFH (2) TR

(3) SR (4) T

(5) At g

63.

64.

65.

Which of the following statements
is not true regarding Walterkrit
Rajput Hitkarini Sabha '7

(1) Its first meeting  was
organized at Ajmer. |

(2) The Sabha made. Sf)Cla]
regulations to achieve its aims.

(3) It was established in the year
1888, by the efforts of colonel
C.K.M. Walter.

(4) It was aimed to make reforms
for Rajputs and Dalits of
Rajasthan.

(5) Question not attempted

Consider the following statements
related to Bijolia Peasant
Movement : :

A. Vijay Singh Pathik had gone to
Wardha to meet Gandhiji to
give information regarding the
Bijolia Peasant Movement.

B. Prayag’s Abhyudaya and
Calcutta’s Bharat Mitra

newspaper regularly published
‘news related to the Bijolia
Peasant Movement

Select the correct answer using the
codes given below :

(1) Both A and B are correct.
(2) Neither A nor B is correct.
(3) Only A is correct.

(4) Only B is correct.

(6) Question not attempted

The S.A. Sudhalkar report of 1945
is associated with which of the
following Princely State ?

(1) Udaipur  (2) Jaipur
(3) Jodhpur (4) Bikaner
(6) Question not attempted
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67.

68.

@ S'Pfr"mr\ baard 11573
66. =¥ A #) u fywbey ol gifma g & ¢ | 66. Which of the following options is
1) T T - Fofg not rlél}:tly matﬁzhed ?K o
' o pen A (1) uman Raso — Karnidan
(2) VAETS TE - FRIGE o (2) Shatrusal Raso — Dungarsingh
3) TS TE — SEREEd (3) Prithvi Raj Raso— Chandarbardai
(4) deaaTE-qwiy ¢ (4) Bisaldev Raso — Narpati
(5) oTgaRa W (5) Question not attempted
T § gl H gafa @ g | 67. Matclcll . Lisg — I with List — 111
T &) wfig Rewar Ml w7 regarding famous painting styles
Sa mae e and their painters of Rajasthan
feeml & ey 3§ wEt fmea g and select the correct option :
g 11 List-I List - I
A T i -g-rfgalaq A. Kishangarh i. Sahibdeen
B, @ i e B. Bikaner ii. Nihalchand
C‘ > .. sih C. Mewar iii. Ali Raza
D i i H i D. Marwar iv. Shivdas
L TR v Ree Codes :
R A B C D
A B C D (D i i iv i
(1) # 1 “iv 1 92) i . g B
2 i i i iv 53; 5 he 4 4
(3 1 iv i i G afgs . w  s
(4 i i i ive ¥ 4 i m 1 1w
(5) Faia ¥ | (5) Question not attempted
e § HYHed g’ fafifa srﬁm nfer | 68. T?e flgn}ous tell?ple buﬂtc{)ydMétth?lndfv
) at Rajorgarh was dedicated to
forer & fopm e v =6t i o 7 which ofthe following deities ?
2 q%wqﬁ:ﬁ 1 urya
g; g\i 2 4; frsay gg Ig'{lqhishasur Mardini
7o iva
5) IFARd I . (4) Vishnu
e " f o - 3 (5) Question not attempted
W S 69. Consider the following statements

69.

00

frfrfign ot w0 feR R @ |

A & IR AR 9Tl STEEd @ |

B. ¥g gm=Id: THEEHA! & W M A
g B e |

(1) A3mBEHadE |

(2) A3 BEA A |

(3) HIAATAR | |

(4) HIABEIR |

(5) Frgefa A
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—1

about the folk instrument
‘Chautara’ and choose the correct
option from below :

A, It 1s a
instrument.

B. It is generally used in singing
bhajans of Ramdev ji.

(1) A and B both are true.
(2) A and B both are false.
(3) Only A is true.

(4) Only B is true.

(5) Question not attempted

four stringed




70.

71.

12;

73.

TR WY & TYHEE MW % gy o

fafefes o W fmr $fe @

frifern o @ vt favew g

A IER argEam m % W
THEABE | 1

B. émm%vﬁmgaﬁm

® I

AaﬂtBaﬂ‘rm‘El

A 3R BN sma |

FTAATER |

(4) FTABETR|

(5) srgafa sy

e 3 2 forerds fore et s & s,
Braelt wreg wrafera & ?L

1) w8 @ v%%m

(3) e (4) «rwfF

(5) orgaid we

1)
(2)
@)

,,,,,,

qtﬁanﬁﬁqqaﬁmﬁmﬁﬁw

A mmmaﬁaﬁalﬁl

B. ¥ W@ U F TE
Ty W W ARt w fwf
HET T |

AFRBEAi A€ |

A 3 B3t s # |
FaAATIAR ||

(4) FIABEAARI,

(5) Fgmi@TE O

T o1 JaeT A g ‘FHgaer fra
AFHATEATE 7

(1)
(2)
3)

(1) Tt (2) e
(3) @ (4) rem
(5) a9

70,

71.

72.

73.

Consider the, following statements

about Matsya Union’s Prime

Minister Shobaram and choose the

correct option from below :

A. He left his legal profession

- during the Non-Cooperation
Movement.

B. He was the member of the

Cabinet of Heeralal Shastri.

A and B both are true.

A and B both are false.

Only A is true.

Only B is true.

Question not attempted

(1)
2)
©)
4)
(5)

For which of the following the
words Aadi (7€), Hiyali (€1meft) are
popular in Rajasthani language ?
(1) Phad (2) Riddles

(3) Idioms (4) Proverb
(6) Question not attempted

Consider the following statements
about Saint Laldas and choose the
correct option from below :

A. Saint

Laldas remained
unmarried throughout his
life.

B. After the death of Saint

Laldas, a temple was built at
his Samadhi place.

A and B both are true.
A and B both are false.
Only A is true.

Only B is true.
Question not attempted

(1)
)
)
(4)
(5)

Which of the following colours is
‘Kasumal’, which is used in the
costumes of Rajasthan ?

(1) Pink (2) Saffron

(3) Red (4) Yellow

(5) Question not attempted

00



74. T 9 @ e g ol ) = wpa

75.

76.

77. i

00

L]
dhrd ¢ foifera ¥ @ wd oo 9fiu
A. fesaeem |
B. sy
C. WEEW
D. amEgf
1) AD
3 AB
(5) FARA FH
FSTd e & Ty § fEfeafaa
FYF | famm i :
A frefegifwem
B. 3% QA % U § seel fhar S
THAT R | W
C. R auer | favame
9 &3 g F 1 =T R € T -
$<:
(1)
2)
(3)
(4)
(5)

(2) A,C
4) B,C

[
&

AIRBTEE |
A3RCEEE|
FaAATEER | 0
Fact BuEI? |
JgaRd 5 |
T a9 % defraa fidta frffem
3 g S Ef Iy gl ?

(1) v @ fre=

(3) @& 4)

(5)

A wT e U AT ¥ § 3 |
m:ﬂﬁiﬂ?ﬁaﬁﬁm%
qregy @ &8 & |

B. @qﬁﬁ‘@’ﬁ?ﬁﬁw

gyd i ol | l

A B EAE |

A3 BaA sEa & |

FIAATAER |

Had BaA2 |

It 991

(1)
(2)
3
(4)
(5)

19

74.

75.

76.

Which of the following Buddhist
texts were written in Sanskrit
language ? Choose the correct option
from below :

A. Divyavadan

B. Deepvansha

C. Mahavansha

D. Aryamanjushree Moolkalp

1) AD @ AC
3) AB 4) B,C
(5) Question not attempted

Consider the following statements

related to Aajivaka Sect :

A. Belief in Determinism

B. The order of reincarnation
can be changed.

C. Belief in Austerity

Select the correct answer using the

codes given below :

Codes:

(1) A and B are correct.

(2) A and C are correct.

(3) Only A is correct.

(4) Only B is correct.

(5) Question not attempted

Which of the following titles was
adopted by the Kadphises Second
of Kushan dynasty ?

© (1) Mahakshatrap

(2) Singh Chandra

(83) Sakari

(4) Sarvalokeshwar

(5) Question not attempted

Consider the following statements
about Stupas and choose the
correct option from below :

A. The word ‘Stupa’ 1is an
architectural term and means
something which is raised up
by accumulation.

B. The custom of erecting

‘Stupas’ as a form of memorial

to the dead was pre-Buddhist.

A and B both are true.

A and B both are false.

Only A is true.

Only B is true.

Question not attempted

(1)
(2)
(3
(4)
(5)

O
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79.

80.

81.

N

Who painted the famous image of
Bharat Mata to visually associgy,
the identity of India, as a Nation 9
(1) Bankim Chandra

(2) Rabindranath Tagore

(3) Gagnendranath

(4) Abnindranath

(6) Question not attempted

In which language did the poet
Mallanarya write the texts nameg
“Bhava Chinta Ratna” and
“Veerasaivamrita” in the court of
Krishandev Ray ?

(1) Telugu (2) Kannada
(3) Sanskrit (4) Tamil

(5) Question not attempted
Which of the following monuments
were bullt by. Emperor Shershah ?
A. Sasaram Tomb

B. - Kila-E-Kuhn Mosque
C. Tomb of Sikandara
D. Jama Masjid

AD 2 B,D
A'B 4 AC
Question not attempted

Which of the following statements

18 not correct regarding the Bhakti

Movement ?

(1) Madhvacharya propounded
Nirguna  Bhakti Siddhant

Instead of Sagyng Bhakti.

Ramanandgq advocated Rama
Bhaktji.

Vallabhacharya
Pushtimarga.
Nimbarka
Philosophy

(2)

@) established

@) Propounded the
f Dvaitadvait.

Question pet attempted

(5)
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82.

83.

e
€'y

Which is not an area of
Mediterranean type of Agriculture ?
(1) Northern Australia

(2) Southern part of South Africa
(3) California

(4) Central Chile

(5) Question not attempted

Read the following statements rel_ated

to the liberal phase of Indian National

Movement (1885 — 1905 A.D.) : '

A. Supported the rich democratic
and scientific culture of
modern Europe.

B. Strongly criticized the
Economic aspect of British
imperialism.

Select the correct answer using the

codes given below :

(1) Both A and B are true.

(2) Neither A nor B is true.

(3) Only A is true.

(4) Only B is true.

(5) Question not attempted

Who among the following was
appointed as the chairman of
Secondary Education Commission
by Government of India in 1952 ?
(1) P.C. Mahalanobis

(2) Laxman Swami Mudaliar

(38) S. Radhakrishnan

(4) D.S. Kothari

(5) Question not attempted

Match List — I with List — II and
select the correct answer by using
the codes given below :

List - I List - 11
(Desert) (Location)
A. Gobi i. Southern Africa

B. Patagonia ii. Asia
C. Victoria 1iii. South America
D. Kalahari 1iv. Australia

Codes :
A B C D
(Hh 1 1 i iv
(2) i1 v 1 1
3) i1 1miiv i
4) iv 1 1iu 1
(5) Question not attempted
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@)
(4)

(®)

86.

87.

88.

89.

Match List — I with List - II and
select the correct answer using the
codes given below :

List -1 List - IT
(Tributary) (River)
A. Rapti i. Brahmaputra
B. Tista 1. Narmadg
C. Hiran iii. Godavari
D. Purna iv. Ghaghra
Codes :

A B C D
() o 1 o
@2 iv 1 i i
3 iv 11 1 1
@ 1 n i iv

(5) Question not attempted

In which forest zone of the world
highest deforestation has been
recorded ?

Savana Deciduous

Tidal

Coniferous

Tropical

Question not attempted

What is the correct order of the
following mountain ranges from
North to South ?
A. Ladakh B. Shiwalik

. Karakoram D. Zaskar
Codes :
(1) C,A,D,B (2 C,B,AD
3 ACB,D 4 D,C,AB
(5) Question not attempted

Which one of the
statements is not correct ?
(1) T};e. western  disturbances
originate from the
Mediterranean Sea.
(2) The Monsoon Expedition
(Monex) was organized under
the joint auspices of the
United States of America
(U.S.A)) and India.
The variability of rainfall at
hennai is more than that of
Mumbai,
The retreating  monsoon
causes some rains in the
coastal areas of Tamil Nadu.
Question not attempted
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3)
(4)

(5)
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90. Which of

91.

92.

93.

the following group of

districts of Rajasthan is correctly

arranged in ascending order as per

average rainfall during South-West

Monsoon ? .

(1) Nagaur, Dhaulpur, Ajmer

(2) Churu, Baran, Bhilwara

(8) Jalore, Jaipur, Kota

(4) Jaisalmer, Banswara,
Rajsamand

(5) Question not attempted
Which is not a correct match ?

Nuclear State
Power Plant
(1) Kaiga — Tamil Nadu
(2) Narora — Uttar Pradesh
(3) Kalpakkam - Tamil Nadu
(4) Kakrapar  — Gujarat

(5) Question not attempted

The four segments of the Golden
Quadrilateral join the following
cities :

A. Delhi— Mumbai

B. Mumbai— Chennai

C. Chennai- Kolkata

D. Kolkata —Delhi

Consider the length of the above
segments in descending order and
select the correct answer using the
codes given-below :

Codes:
1) D,C,B,A (2 D,C, A B
3) C,D,AAB 4 C,D,B A

(5) Question not attempted

Consider the following statements :

A. Luni Basin and Shekhawati
region are the Sub-regions of
Rajasthan Bangar.

B. Ghaggar Plain covers mostly
Hanumangarh and
Ganganagar district.

C. Nagaur uplands have salty
lakes and inland drainage.

D. Aravalli ranges are rich in all
types of minerals.

Select the correct answer using the

codes given below :

Codes :
(1) B,CandD (2) AB CandD
(3) AandB (4) A,BandC

(5) Question not attempted
O
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94.

95.

96.

98.

Medtech Medical Devices Park is
located at

(1) Nainwa, Bundi

(2) Boranada, Jodhpur (undivided)
(3) Ganeshwar Extension, Sikar
(4) Maal Ki Toos, Udaipur

(5) Question not attempted

In which district of Rajasthan
‘Khadin’ is a popular method of
water conservation ?

(1) Jaisalmer (2) Pali

(3) Nagaur (4) Bikaner

(5) Question not attempted
Match List — I with List — II and

select the correct answer from the
codes given below :

List -1 List - II
(District) (River)
A. Udaipur i. Sabi & Ruparel
B. Bundi ii. Gambhiri & Parvati
C. Bharatpur iii. Som & Jakham
D. Alwar iv. Kural
Codes :
A B C D
O i Wi v
2 W v 1 i
@ i v i i
4 iv i i i
(6) Question not attempted

Which type of soil is dominant in
Jaipur, Dausa and Alwar districts ?
(1) Vertisols (2) Alfisols

(3) Entisol (4) Inceptisols
(6) Question not attempted

In the year 2021-22, contribution of
Rajasthan in total production of Bajra
in the country (in percentage) was

(1) 38.98 (2) 84.69

(3) 46.30 (4) 87.69

(5) Question not attempted

00
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99.

100.

101.

102.

103.

104.

Which is not a correct match ?

Conservation District
Reserve (as on
May 2023) .
(1) Sorsan ~ Bundi
(2) -Hamirgarh — Bhilwara
(3) Rankhar ~ dJalore
(4) Mansamata — Jhunjhunu

(5) Question not attempted

Mount Abu and Ranakpur are
included in which tourist circuit ?
(1) Godwar (2) Mewar .
(3) Dhundhar (4) Shekhawati
(5) Question not attempted

The national executive of which
political party called for the
dissolution of the Constituent
Assembly and its re-election by
adult suffrage ?

Swaraj Party

Muslim League

Hindu Mahasabha

Socialist Party

Question not attempted

The correct descending order of
districts in Rajasthan based on
total literacy rate (census 2011) is

(1) Jhunjhunu, Kota, Sikar,
Jaipur, Alwar

(2) Kota, Jhunjhunu, Jaipur,
Alwar, Sikar

(3) Jaipur, Jhunjhunu, Kota,
Sikar, Alwar

(4) Kota, Jaipur, Jhunjhunu,
Sikar, Alwar

(5) Question not attempted

At which of the following places,
asbestos mines are located 1n
Rajasthan ?

(1) Karpura and Fatehgarh
Depura and Dingri

Arjunpura and Piparda

Kura and Mangol

Question not attempted

The most important resources of
lignite in Rajasthan are located at
Kapurdi, Merta and Kasnau
Kapurdi, Palana and Jagpura
Palana, Agucha and Merta
Palana, Kasnau and Jagpura
Question not attempted
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106.

106.

107.

Match List-A with List-B angq
identify the correct answer fropy
the codes given below :

List-A List-B
(Case) (Amendment
challenged)

. Indira Gandhi V. i. 42nd

Raj Narain Amendment

. Minerva Mills 1. 52nd

V. Union of India Amendment

. Kihoto Hollohan iii. 39th

V. Zachillu Amendment
. P. Sambamurthy iv. 32nd
V. State of A.P. Amendment
Codes :
A B C D
1 iv i i i
2 i i i v
@) i i oiv i

4) i i i iv
(5) Question not attempted

Fundamental Rights provided by
which of the following groups of

Articles are granted only to
‘Citizens’ of India ?

(1) Articles 20, 21, 25 and 30
(2) Articles 15, 16, 19 and 30
(8) Articles 14, 20, 23 and 30
(4) Articles 15, 21, 25 and 28
(5) Question not attempted

In which year it was inserted in

the Constitution of India that the

State shall secure free legal aid to

any citizen by reason of economic
or other disabilities ?

(1) 1975 (2 1979
(3) 1978 4) 1976
(5) Question not attempted
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108. Which of the following statement is
incorrect regarding the election of
the President of India ?

(1)

@)

3

(4)

. )

The elections are held in
accordance with the system of
Representation

of single

Proportional
by
transferable vote.

means

Every elected member of the
Legislative Assembly of a
State shall have as many
votes as there are multiples of
one hundred in the quotient
obtained by dividing the
population of the State by the
total number of the elected
members of the Assembly.

The President of India 1is
elected by the members of an
Electoral College consisting of
(a) the elected members of both
the Houses of Parliament and
(b) the elected members of the
Legislative Assemblies of the
States and the Union Territories
with Legislative Assembly.

Value of vote for each of the
members of the Electoral
College is decided based on
the population census of 1971
and it will continue to be so
till population of the first
census taken after the year
2026 have been published.

Question not attempted
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109. Identify the

110. Which of the fo

N

correct statemen
regarding the Election Commission
of %ndia. o
(1) Under the Constltutlon,' the
Commission also has advig,

jurisdiction in the matter of
post election dlsquahﬁcatlon of
sitting members of Parliamep:
and State Leglslaturqs.
The President appoints Chjef
Election Commissioner apg
Election Commissioners and
they have tenure of five years
or up to the age of 60 years
whichever is earlier.
Election Commission of India is
a permanent Constitutiona]
Body and it was established in
accordance with the Constitution
on 25th January, 1952.
The concept of multi-member
Commission has been in
operation since 1995 with
decision making power by
majority vote.

uestion not attempted

(2)

©)
(4)

(®)

_ llowing statements
regarding the powers of the

speaker of Lok Sabha are correct ?
hoose the correct answer from the
codes ﬁ:ven below :

@ e speaker presides over a
Jomnt sitting of both the houses

... of Parliament.

() When 4 Money Bill is
transferred from the Lower
House to the U per House,
the speaker shalf) endorse on
the bill his certificate that it

.... 18 a Money Bill. .

(i) While g resolution for his

removal is under consideration,
the speaker shall neither
preside nor take part in its

' roceedings, :

(iv) The speaker does not vote in

the House except when there
18 equality of voteg.

Code(g :l

1 nly (1), (i1) and 1v)
§2; Only 1;, §ii) and Eiii)
3)  Only 1) and (iii)

gg nly (i) and (11)

uestion not attempted
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FAHT STEAT T FHiE |

2
3

R )
2004 % A § HEE A
RSCEE ]

3t (b) H () FEE |
e (a) 3 () TEE 1L
Fael (a) GE 2 | <3
et (a) (D) TEE T
At 9

(1)
2
3)
4)
(5)

111.

112.

The Central Vigilance Commission
was formed on the basis of the
recommendations of which of the
following committee ?

(1) Swaran Singh Committee

(2) Bakshi Tek Chand Committee
(3) Santhanam Committee

(4) Kelkar Committee

(5) Question not attempted

Which of the following is a matter
on which the Finance Commission
notified by the Ministry of Finance
on 31st December, 2023 shall not
make its recommendation ?

(1) The measures needed to
augment the Consolidated
Fund of a State to supplement
the resources of the Panchayats
and Municipalities.

Review the present
arrangements on Financing
Climate Management initiatives.
The distribution between the
Union and the States of the
net proceeds of taxes which
are to be or may be divided
between them under Chapter
I Part XII of the Constitution.
The principles which should
govern the grants-in-aid of
the revenues of the States out
of the Consolidated Fund of
India.

(5) Question not attempted

(2)

3

4

. Consider the following statements

and identify the correct answer

from the codes given below :

(a) The Congress won 145 Lok
Sabha seats in 2004 election.

(b) The BJP won 133 Lok Sabha
seats in 2004 election.

(¢ The CPI(M) won .48 Lok
Sabha seats in 2004 election.

Codes :

(1) Only (b) and (c) are correct.

(2) Only (a) and (c) are correct.

(3) Only (a) is correct.

(4) Only (a) and (b) are correct.

(5) Question not attempted

O



114.

115.

116.

117.

Pt 3 & Towem faum o 3 anfire
faem wat B e wd R
(1) ey faurh wfee & v &
AU ao fadasmt ® afifa
T s | .
I8 T four @ # wftean sk
% waed Rt &% fram 240 g
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Ffre foum afify dfm %
TEYH a1 W@ ey s % forg
ST} 3 , STJETT H §91¢
ﬁwﬁiﬂ“wﬁiﬁ”ﬁmm‘élo
wfafa 37 fadet & wraumt 6 s
F FHdl ¢ S W | fg
it gl A afms@ € |
¢) sgEfasE

TSRYM & TSI & oy § Prerifea A

BN A1 HU T T Y

(1) TeaE fee g W) 1 Tew=R, 1956
1 TTEAM HT Tg TSAUTe Frgea
e |

TS fpea avie ¥ 31 9o,

2024 H ToRAH & TIA H

YR AT | .

FHTUT R TIIE . I¢ Y THIG
™7 | e

(4) 74 "faum G 3 TINE w1 1g
T fpamar |

(5) IgufE g

Freaferfiga # @ fore et 3 sftrmam
SR T 3 Tgafe e o e R e |
(1) AR ST |

2)

3)

C))

2

3

JaEt 2024 & A qh, TIRYH &)
Hfafeeg # femah afgemd of 7

(1) a3 (2) %ae b

(38) %ad 1 (4) %ae 2

(5) TR TH |

30

.

114. Which of the following statemen; ;.

incorrect re ardin SUbol.'dinat

legislation ngaJast an Leglslativz

Assembly ?

(1) Speaker refers Bills
containing  provisions f,
delegation  of  legislatiy,

owers to the Committee.
is is done bg Rule 240 of th,

Rules of Procedure and Condyt

of Business in the Rajastha,

Legislative Assembly.

The Committee on Subordinate

Legislation examines  gf|

“orders” framed in pursuance of

the provision of the constitution

or a statute deleﬁat;ng power to
subordinate authority to make
such order.

The Committee may examine
rovisions of Bills which seek to
elegate powers to make orders.

(5) Question not attempted

115. Which of the following statement is

not correct regarding the Governor

()

NE)

C))

of Rajasthan
Gurumukh Nihal Singh was
appointed as the first

overnor of Rajasthan on 1¥
Nov.ember, 1956 AD.
aribhau  Kisanrao  Bagle
assumed the office of the Governor
of Rajasthan on 31t July, 2024
n  the basis of the
recommendation of the States
eorganisation Commissiol
€ 1nstitution of Rajpramu
was abolished.
€ institution of Rajpramukzhh
was  abolished by the T
) Q%Iésé?tution?l amendmsnt'
. 10n not attempte
116. Which of the following Chief Minist®
President’s Rule in Rajasth®

@)

3

(4)

faced
({r maximum number of times 7

Jai Narayan Vv as
2 Shiv Charan Mathur
4 Har; Dev Joshi
B }1}2“;9“ Singh Shekhavat
Stion not e
7. As of the eng of theaﬁgf,’;ﬁber?‘)%i
oW many women were there i *
1aJas;than Council of Ministers ’
5 Only 2) Onlyb
. Only 1 4) Only2
Question not attempted

00

)



118.

119.

120.

121.

122,

00

(1) FT=T 322(2)
(2) 325(4)
(3) I3 320(3)
(4) 318(1)

(5) ARG T

frafafea & @ fra s =t wfe g
TR ¥ ToRYE 3H A% TR
A HT HRAAR BT 7

(1) 20/04/2024 (2) 20/05/2024
(3) 20/02/2024 (4) 2(21@3/2024

(5) AR FA
o o fren smaeEn afufa &1 s
FHIAAE ?
(1) QEqEH
2) foenygE
(3) ToreT et
(4) Toem dftsg
stfreprd

(5) gl T

feg wfufem & g0

yiferertor St v gt ot 7

(1) s foewd lICERY
1984

2 R fawE
1985

(3) wag fawE

(4)

(5)

N

s, e,

1982 4
g feashrE Hm¢$ﬂﬁﬂ3ﬂﬁﬁq“,
1983 “

Aqata 9

31

1180

119.

| 120.

121.

Which of the following group of
princely states  had enacted
legislations on Panchayats prior to
independence ?
(1) Jodhpur, Jaipur, Udaipur,
Sirohi
(2) Karauli, Bundi, Alwar,
Jaisalmer
(3) Alwar, Banswara, Karauli,
Sirohi
(4) Banswara, Bikaner, Bharatpur,
Bundi
(5) Question not attempted
Which Article of the Constitution
prescribes mandatory consultation
with RPSC on disciplinary matters
affecting a person serving under
Government of Rajasthan ?
(1). Article 322(2)
(2) Article 325(4)
(3) Article 320(3)
(4) Article 318(1)
(5) Question not attempted
From which of the following date
Pramil Kumar Mathur assumed
the office of the Registrar General
of Rajasthan High Court ?
(1) 20/04/2024 (2) 20/05/2024
(3) 20/02/2024 (4) 20/03/2024
(5) Question not attempted
Who becomes the chairperson of
District Planning Committee in
Rajasthan ?
Member of Parliament
Zila Pramukh
District Collector
Chief Executive Officer of Zila
Parishad
(6) Question not attempted
By which Act, the Jaipur Development
Authority was established ?
(1) Jaipur Development Authority
Act, 1984
(2) Jaipur Development Authority
Act, 1985
(8) Jaipur Development Authority
Act, 1982
(4) Jaipur Development Authority
(5)

Act, 1983
Question not attempted
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128. TST ga1 g H FgfR vwme g

o aRf # Rehe w6 g
Frafofea & ¥ o1 0 wfifa & vew T
T g

(1) Wmﬁnﬁa%ﬁﬁzwﬁ’r

(2) I AN 1 e st

8) T

Q) mﬁuwwﬁﬁwmimg

(5) IrgaRa S

e

125.‘(13{{211:{ m 3ﬂ'{ — {nd

Ffefom, 1973 & 4@ 7 ¥ g,
AT F FS T § w3
FH! & Rees mid ) st S w5
FfteR 2 | FrafeRea & @ 9\ o1 sy
3 e b R i R e -
(1) wfeenstt 1 A sefed, v
Yo 3 s & R Ry
(2) Eﬁmmﬁ%ﬁaﬂﬁwfﬁnw
Tt B T umeliar B e Q

®3)
@ M T fFfh I = F R
HAY AN T FA F T e
b F w1 A e
fRfawmgmmaar

(5) e s

f

126, @ T % wieEr % e maTR &

o

IATE A& B IWHA TR Rpaf & 7
(1) 30,000 (2) %40,000
(3) T10,000 (4) %20,000

(5) rgafed g

" 32

.

128. State Information Commissioner ig

124,

125.

126.

appointed by the Governor on the

recommendation of a Committee,

Who of the following is not g

member of this Committee ?

(1) A cabinet minister to  be
nominated by the Chief Minister

(2) Chief Justice of High Court

(3) The Chief Minister L

(4) The Leader of opposition in
Legislative Assembly

(6) Question not attempted

Among the following Chairpersons

of Rajasthan State Human Rights

Commission, who could complete a

five year term ?

(1) Justice S. Sageer Ahmed

(2) Justice Prakash Tatia

(8) Justice Ms. Kanta Bhatnagar

(4) Justice N.K. Jain
(5) Question not attempted

Under Section 7 of the Rajasthan
Lokayukta and Deputy Lokayukta
Act, 1973, the Lokayukta is
empowered to investigate
allegations against ministets and
public servants in certain cases.
Which of the following subject is
not part of those investigations ?

(1) Sexual harassment of women,
caste discrimination and
violence against children.

Can be related to being guilty’
of corruption or lack of
transparency in the capacity
of a public servant.
Unreasonable harm or
suffering caused by public
servants.

Abusing his official position
as a public servant to obtain
illegal benefits for himself or
any other person.

(6) Question not attempted

What is the amount of security
deposit to contest the election of a

@)

@)

(4)

Mayor by a candidate belonging to —

the general category ?

(1) ¥30,000 (2) T 40,000
(3) 10,000 (4) 20,000
(6) Question not attempted

00
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128.

129.

130.

AT F TG F I G F T F

gauifE it s wsuTrvdi 2 ¢

(1) & -3 H F A Ted ¥&H
@R |

2 ue et H fetd TR hi s

(3) T A HTRIYU H Aehell 2 |

(4) € IURA WH A =R |

(5) TR T

YR F T faw Wa % W |

AafREa A AP T FA AR ?

(1) = V9 w9 % 199 26.11.2020
=1 arfergfara fFumg? |

@ wéu Fave F vl F R
s fret, fafvaml, smeEt 3R

®3) mﬁ%&nﬂ'&m@/mﬁ%m
TH-RN T / ISRt / ST /
W%a%w.ﬁaﬂﬁﬁm
g (3AFeTE) $eThE S TR
fyepTERt Ot SiET L R |

4) wse%ﬁamuwéiaﬁrmmm
& & gl T 3l & & B
%ﬁﬁmmﬂm/w
3 e ey 35 forg e gl & nf

fraferfia &
g 3 @ U6
%1 o yafra @ e gt
T W & 7

(2) 2021-22

(1) 2020-21
(3) 2018-19 (4) 2019-20 |

127.

128.

130.

(5) A 8

Which of the following statement is

related to the benefit of the “Input

Tax Credit Mechanism” of GST ?

(1) This provide tax relief to
start-ups.

(2) There is no need to keep
records for producers.

(3) This avoid double taxation.

(4) This avoid tax on production.

(5) Question not attempted

Which of the followin statement is

incorrect regarding ﬁAJ NIVESH

Portal of Rajasthan ?

(1) Rules for the One Stop Shop has
been notified on 26.11.2020.

(2) The portal also provides updated
information relating to relevant

rules, regulations, orders and

E)olicy initiatives and schemes
Rozguidance of investors.
NIVESH portal provides a
sinfle point (online) interface
and a time bound clearance
system by acting as a one-stop
information/registration/approval
ftracking centre for clearances/
approvals.

(4) It 1s a “One Stop Shop” (OSS)
facility 1
Minister to facilitate large
investment proposals —more
effectively an expedite
requisite approvals / clearances
for the same under one roof.

(5) Question not attempted

@3)

. The aim of citizen’s charter is not —

21; Accountable Government
9) To create effective hearing

system of public demands
(3) Quality and time frame
service delivery
(4; Citizen friendly governance
(5) Question not attempted

In which of the following year annual

growth rate of Gross National

Income and Net National Income on

both current prices and constant
rices were Negative in India ?

(1) 2020-21  (2) 2021-22

(3) 2018-19 (4) 2019-20

(5) Question not attempted

directly under Chief
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132.

133.

¥ wuy ¥ faforfye wol w e i .

A. 78 5 o8, 2013 9 SffRafa fwnmy |
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131

132.

133.

.

. Consider the following statementg

regarding “National Food Security
Act” (N FgA) in India :

A. It was enacted on July 5, 2013,
B.  Around 50 crore persons have
been covered under NFSA gt
present.

The Act legally entitles upto
75% of the rural population and
50% of the urban population to
receive subsidized food grains.
Choose the correct option using
codes :

(1) Both A and C are correct.

(2) A, Band C are correct.

(3) Both B and C are correct.

(4) Both A and B are correct.

(5) Question not attempted

Which of the following statements
is/are correct in respect of inflation
in India ?

A. Core inflation include. the
prices of food and energy.
Headline inflation exclude
food inflation.

C. Headline inflation is more
volatile in nature than core
inflation.

Select the answer using the codes
given below :

(1) Band C only (2) Only C

(3) A and B only (4) A and C only
(6) Question not attempted

In List-I, the names of agricultural
crops are given and in List-II, the
names of the states which stood
first in the production of these
crops in 2021-22 are given. Match
them by using codes :
List-I

A. Nutricereals i.
B. Total pulses
C. Groundnut

.

List-II
Rajasthan
1. Karnataka
1ii. Madhya Pradesh

D. Soyabean 1v. Maharashtra
v. Gujarat
Codes :
A B C D

() i i v iy

22) v v i i

) 1 d oW v

(4) Wi i iv i

(5) Question not attempted

00 .
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(1) THINH . wfufrem (Reepa
froaififafa ve wue fae)

2) woHE afufyaw

@ oft vt
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(5) JFTRA T
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(5) g 5
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g

184. Which of the following is not

associated ~ with financial sector

reforms in India initiated after 1991 ?

(1) FRBM. Act (Fiscal Responsibility
and Budget Management)

(2) SARFAESI Act

(3) Capital adequacy

(4) Non-performing assets

(5) Question not attempted

. Consider the following statements

regarding World Happiness Report —

2024 :

A. India ranked 126tk out of more
than 140 countries, which 1is
lower than its neighbouring
countries  including China,
Nepal, Pakistan, Myanmar, Sri
Lanka and Bangladesh.

B. India’s ranking has remained
relatively stagnant over the
years, indicating limited
progress in improving the
overall happiness and well-
being of its population.

Select the correct answer using the

* codes given below :

(1) BothAand B

(2) Neither A nor B

(3) Omnly A

(4) OnlyB

(5) Question not attempted

Worker to Population Ratio (WPR)

is defined as

(1) Percentage of employed
persons in total population

(2) Percentage of working age
population in total population

(3) Percentage ~of employed
persons in labour force

(4) Percentage of employed persons
in working age population

(5) Question not attempted
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138.

139.

H31 F AN H1 v §A 4 | el v R
(1) Ftor, fafimfor, SR, @

(2) ffwtor, ¥, @, Rafor

@) fafmfor, @, $R, fafor
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T WL, srfufrm, 2005
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(1) BICIFadg|
(2 A, BaCaftadid
(3) AICoHiad@ g
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(5) g S
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T 3 o el e AR

A. ¥ 2046-47 T TG T AT 1
Hg AfRMAT HI 71 2029-30 T 50
NG SHfaRTAT ! YSTTR JeH T | |
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&3 1 ATer 2023-24 % 3.4 3fowa
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(1) $IAAIMC(2) A, B3ikC ;

|

B.

C.

C.

(3) %adAIMB (4) Fad B3k O
(5) A g
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137.

138.

139.

A.

rrect share of various ge
;I;xharct;)ss Fixed Capital Formatiopn of
Rajasthan in descending order ig

truction, Manufactur;

) Xg?iiulture,.f\/llmng ‘ ng,

(2) Manufacturing, AgrlCUIture’
Mining, Construction "

facturing, ini

@ k{;r?élulture, Cgonstruct,ion g,

(4) Construction, Agriculture,
Manufacturing, Mining

(5) Question not attempted

Consider the following statementy

regarding  fiscal deficit  ¢f

Rajasthan : .

A. The actual fiscal deficit in the
year 2022-23 has been 3.7¢
percent of the State GDP.

B. This is less than the limit
prescribed by the F.R.BM.
Act, 2005.

C. The fiscal deficit of 2022-23 was

higher than that of 2021-22.
Choose the correct option :
(1) Both B and C are correct.
(2) All A, B and C are correct.
(3) Both A and C are correct.
(4) Both A and B are correct.
(5) Question not attempted

Consider the following statements

regarding targets of Rajasthan
neral Policy — 2024 -

Provide employment to 50

lakh people by 2029-30 and

over 1 crore people (direct and
~Indirect) by 2046-47.

B.  Enhance the mineral sector’s
contribution to state’s GSD
from 3.4 percent in 2023-24 t0
5 percent by 2029-30 and to 8
percent by 2046-47.

C. Expand ~the number o
minerals under extractio?

- flro? 58 to 70 by 2047.

ic re
correcto? the‘ above statements &

(1) Aand Conly (2) A BandC

g; A and B onlirr §4; B’and C only

uestion not attempted :
0

1 ‘
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140. Which of the following park/zone

141.

142.

(G

has not been developed by RIICO

in Rajasthan ?

(1) Sports Goods - Khushkheda,
and Toys Zone Bhiwadi

(2) Agro Food Park — Udaipur

(3) Medtech — Boranada,
Medical Jodhpur
Devices Park

(4) Integrated - Jamwa
Resource Ramgarh,

Recovery Park  Jaipur
(5) Question not attempted

Ease of Doing Business ranking for
the states in India is released by —
(1) Investment Promotion Bureau
(2) Rajasthan  Small Industry
Corporation Limited (RAJ SICO)
Department of Industry and
Commerce

Department for Promotion of
Industry and Internal Trade

Question not attempted

3
(C))

Which of the following has been
formed in place of Chief Minister’s
Rajasthan Economic Transformation
Advisory Council (CMRETAC) ?

(1) Rajasthan Centre of Advanced
Technology (R-CAT)

(2) Rajasthan Grameen
Aajeevika Vikas Parishad
(RAJEEVIKA)

(3) Rajasthan Skill and
Livelihoods Development
Corporation (RSLDC)

(4) Rajasthan  Institute  for
Transformation and

Innovation (RITT)
Question not attempted

(5)



143, f.ow. @ g faoref dem & g

144,

145.

et s A sy adi § 7

@) ¥ A F TE W AR 300 Y 7
R el e s % o o
FUE T R e R i |

(i) T WeR T wAE F@ ¥ 30
BIAG 1 WY

(iii) A T, SR,

ﬁgxaﬁmm

@(iv) HATH Y 4 i q% =

O 3 T WY
O I G (@) @), (i) 3 (v
DI GEv) @) @), Gi) 3R Gii)
HIaa v

1)
3)
(5) =
TSR HHR 3 w-8vg Afy af 2024
Hifta Y | T7 e @l -

(1) 319, 2032 T dreran 7§ iy i
Mad o
(2) 30 9, 2029 T AyaT 7% Ay
HIYUTT B4 G
(3) 319, 2029 T Jyan 7 Hify H
YT B4
(4) 319, 2030 7% Sreran 7§ Hify Y
H9UTT B9 |9 -
(6) IgeRawE -
-1 %1 gA-I1 4 e Fifkd ik
gt & i ol T 52 w1 e w5
& I H T HINA
-1 T-11
(af 2023-24 F Gy ()
T Eia R ™
Lt qaﬁ@u;ha; )
A 1! IR
B. wigq i, TS
?,,}A' B C D
(i iy i i
(2) ii i iv i
(3 iv i i i
(4) iv i i i
(5) i v

38

. Which of the following statem
19 are correct about PM Suryg

Muft Bijli Yojana ?

@

(ii)

(iii)

(iv)

(1)
(3
®)

144.

Y

entg
Ghay

To install Solar plants on one
crore houses to prov1de upto 3¢
unit free electricity every mont},
Provision of Percent
subsidy for setting up rooftop
solar plants.

100 percent online system f,,
registration, application,
approval & grant.
Provision of loan at bank interegt
4 percent to each applicant,
() & (i)  (2) (), (i) & (iv)
&G @) @), (i) & (i)

Question not attempted

Rajasthan Government announced

M-Sand Policy in the year 2024
This will remain in force —

(1)
)
6))
4

(6)
145.

until 31 March, 2032 or till a
new policy is announced
until 30 June, 2029 or till a
new policy is announced
until 31 March, 2029 or till a
new policy is announced
until 31 March, 2030 or till a
new policy is announced
Question not attempted

Match List-I with List-II and select

the correct answer by using the
codes given below the lists :
List-I

List-1I
(New Industrial areas (Place)
developed by RIICO
in the year 2023-24)
A. Nadol i. Udaipur
B. Dharmpura 1. Jhalawar
C. Unmnriya iii. Barmer
D. Maal ki Toos iv. Pali
Codes ;
A B ¢ D
1) i iy iii
(2 i i gy ii
8; A T R
W :
5 m i

Question not attempted "
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(4)
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146.

147.

148.

149.

1560.

(6)

In cataract the natural lens
becomes cloudy because of change
in which of the following ?

(1) Fat

(2) Tear glands

(3) Protein

(4) Carbohydrate
(5) Question not attempted

Which of the following are units of

the pressure ?

(A) bar (B) Pa (C) torr (D)atm
(Choose the correct option :

(1) Only (A), (B) and (D)

@) All(A), (B), (C) and (D)

(3) Only (B) and D)

(4) Only (B), (C) and (D)

(5) Question not attempted

The main objective of “Rajasthan
Urban Sector Development

Programme (Phase-III)” is :

(1) to improve service delivery in
water supply, sewerage and

, sanitation.

(2) to construct new roads.

(3) to improve health services In
urban areas.

(4) to improve school education in
urban areas.

(5) Question not attempted

Who among the following are

eligible for Aastha Scheme in

Rajasthan ?

(1) BPL card holders.

(2) Families in which 2 or more

people are specially abled
category with more than 40

percent disability.

(3) Persons with specially abled
category.

(4) Specially abled category
persons with more than 40
percent disability.

(5) Question not attempted

Mukhyamantri Svanidhi Yojana of

Rajasthan aims to

(1) empower street, vendors

(2) empower  pregnant ~ and
lactating women

(3) empower BPL families

(4) empower SC/ST families

Question not attempted




